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1 | FEs 2 2 AW B 7 7 12 200
2 | TERTFRACE 15 15 20 500
3 | FEMER R F 21 21 25 600
4 | TERp pRA? B 8 8 14 250
5 | FER: R F 4 4 8 100
6 | FERZITBRAE 3 3 7 110
T | FER2 TR 3 3 7 110
8§ | WER 7 HE R E 8 8 14 250
9 | FERLV-FRAY S 5 5 10 150
10 | &R TP & 1 1 5 50
11 | FER 2R P & 2 2 6 100
12 | TER: R F 3 3 7 120
13 | mER g 2R ¥ 1 1 5 40
14 | FER= kB RAY F 3 3 7 100
15 | FER - FRRAXY & 1 1 5 40
16 | FER - 2FRAYE 1 1 5 40
17 | FER-BARAT § 4 4 8 120
18 | FiER >z AP H 2 2 6 60
19 | FER 22 R § 8 8 14 220
20 | FEMZARA H 2 2 6 60
21 | FER LIRS E 1 1 5 40
22 | FER:FHAERYE 1 1 5 50
23 | FEM-FIRAPH 2 2 6 60
24 TERa T8 1 1 5 20
25 L opd (P R) 7 7 12 100
26 B E P E(RP ) 2 2 6 250
B3 116 116 230 3, 740




